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4. How many of the expressions shown above have a value that is larger than 372
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(Record your answer in the numerical-response section on the answer sheet.)



/ An incorrect simplification of the expression-(23)(25)2 +~@x 2)2 is shown below.
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In which step is the first recorded error?
Answer: Step 2‘

(Record your answer in the numerical-response section on the answer sheet.)
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30. Which of the following rows correctly identifies the expression with the lowest value and
the expression with the highest value?
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Use the following information to answer question 20. -
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The cubes in the 3-D object shown below represent a repeated multiplication and a power.
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32. Which of the following rows identifies the repeated multiplication and the power that the 3-D object

represents?
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